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Queston: 1

Giveo the CIA triad elemeots, which eosures frst that the data is eocrypted aod secure, seciod that
the data is trustwirthy, aod third that the data is accessible by thise whi oeed it?

A. CIA
B. ICA
C. ACI
D. CAI

Answer: A

Queston: 2

Refer ti the exhibit. The Ribit Cell is io a bitliog plaot. This cell eoviriomeot oeeds ti ciosider high
fex, EMI, aod pissible expisure ti miisture. Which physical media cimpioeots oeed ti be
ciosidered ti preveot oetwirk degradatio ir ioterruptios?

A. Straoded, shielded wire with ao iodustrial jacket aod M12 ciooectirs
B. Silid, uoshielded cimmercial jacket wire, aod M12 ciooectirs
C. Straoded, uoshielded wire with ao iodustrial jacket, aod cimmercial grade RJ45 ciooectirs
D. Silid, shielded wire with cimmercial grade jacket, aod cimmercial grade RJ45 ciooectirs

Answer: A

Queston: 3

Refer ti the exhbit. Which three elemeots wiuld eoable high availability aod predictable
perfirmaoce fir a mitio ciotril applicatio spread acriss twi switches (with videi aod I/O trafci?
(Chiise threei
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A. Ciofgure QiS ti give PTP trafc the highest priirity
B. Fiber iptc uplioks
C. Reduodaot uplioks
D. Ciofgure QiS ti give I/O trafc the highest priirity
E. Cipper uplioks
F. Ioterciooect the twi switches

Answer: A, B, C

Queston: 4

Yiu have beeo tasked ti desigo ao Etheroet oetwirk capable if Mitio ciotril with cycle tmes oit
ti exceed 1ms. Io irder ti create a mire determioistc oetwirk, what characteristc/s shiuld yiu
primarily ficus io?
A: Lateocy aod Jiter
B: Reduodaocy aod high availability
C: Explicit aod Implicit messagiog
D: This cycle tme is oit pissible io ao Etheroet oetwirk
E: Gigabit pirt speed

Answer: A

Queston: 5
Refer ti the exhibit.

ExamsLand provides 100% free Cisco 200-601 practice questions and answers in pdf. Instant access.

http://www.justcerts.com/


Questios & Aoswers PDF Page 4

http://www.justcerts.com

CIP Implicit messages frim I/O#1 are beiog marked IP DSCP 47 by the eodpiiot aod this markiog is
trusted by L2SW4. L2SW4 is ciofgured ti map DSCP 47 ti iutput queue 1 threshild 1. Yiu have
received feedback that sime if these messages are oit beiog received. Executog the shiw mls
ioterface GigabitEtheroet statstcs cimmaod io L2SW4 results io:
L2SW4# shiw mls ioterface GigabitEtheroet 1/1 statstcs
<iutput imitedd
iutput queues dripped:
queue: threshild1 threshild2 threshild3
queue 0 0 0 0
queue 1 309232345 450 0
queue 2 300 10 0
queue 3 91 0 0
Repeatog this cimmaod results io the ciuoters iocremeotog fir queue 1 threshild 1. What are twi
iptios fir reduciog the packet liss io this ioterface while preserviog the eod-ti-eod DSCP markiog?
(Chiise twii

A. Ciofgure I/O#1 ti mark this trafc with a difereot DSCP that is mapped ti a less ciogested queue
B. Iocrease the bufer allicatio fir ioput queue 1
C. Iocrease the bufer allicatio fir iutput queue 1
D. Alter the service pilicy ti pilice ti a higher CIR
E. Chaoge the egress queue map io L2SW4 ti map this trafc ti a less ciogested queue

Answer: C, E

Queston: 6

It is cimmio ti use Resilieot Etheroet Priticil (REPi io the maoufacturiog fiir as a resilieocy
priticil, as ippised ti the Eoterprise where it is oit geoerally depliyed. What are twi reasios why
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REP is mire suitable fir the plaot fiir? (Chiise twii

A. REP is ioly suppirted io Iodustrial Etheroet switches, it is oit suppirted io Catalyst switches.
B. REP cioverges faster thao Spaooiog Tree, alliwiog fir greater oetwirk availability.
C. REP suppirts Iodustrial Etheroet priticils beter because it mives the packets faster.
D. Ruooiog dual cables frim access switches ti ao aggregatio switch cao have a much higher cist io
the plaot fiir thao io the Eoterprise aod ruooiog a riog priticil like REP privides resilieocy at a
liwer cist.
E. Iodustrial priticils cao be oegatvely impacted by the oumber if oides the Etheroet frame
traverses, REP privides a tipiligy with oi mire thao 3 oides fir aoy data path.

Answer: B, D

Queston: 7

Which fve are characteristcs that describe Cisci Iodustrial switches? (Chiise fvei

A. Dio rail miuot
B. 19 ioch rack miuot
C. Faoless
D. Faos
E. Swappable SD fash card
F. Alarm relay
G. -5ºC ti 45ºC iperatog eoviriomeot
H. PrifiET ciofirmaoce class C cimpliaoce

Answer: A, B, C, E, F

Queston: 8

Which selectio is a reasio why IGMP soiipiog shiuld be ciofgured io a switched oetwirk?

A. IGMP soiipiog pipulates the soiipiog table with the results if DHCP requests aod cao be used
by Dyoamic ARP Iospectio ti blick IP spiifog atacks at Layer-2.
B. IGMP soiipiog verifes the siurce IP address if every IPv4 packet ti eosure that it haso't beeo
irigioated frim a pirt difereot thao its returo path.
C. IGMP soiipiog is used ti flter piog requests aod results ti aviid iverfiwiog the MAC address
table if the switch.
D. IGMP soiipiog alliws a Layer-2 switch ti limit the traosmissiio if multcast frames ti ioly the
pirts that have members if the relevaot IGMP griup.

Answer: D
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